a(d cot(B))

1072

=
S
w
=
S
w

-3 -2 -1 0 1 2 3 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

e
T T
e —
[y Py -
.
3
——r— .
+
.
T
o
o) =
TTTTT T

S
W[TT

—=— DQM_TT__ORIGINAL
—— DQM_TT__MODIFIED_layerProcv2

£ £
e e
S 3 |
<1 © :
107%=: 107 HE
IO ST 0 [ {1 ([ :
b L b e Al s WL .910—2_....I....!....!....I....I....
TN R ¢
A L T f--lhe - -
- 381 O
-2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA: to beamline) TP n (PCA to beamline)

~ 1=
2 [
[t L.
D' 3
2 L
5 [ A 11
L I.'|| :.. 1 :,. lolg-
107 il g ..
F: & 1] 2[4 111
- bed K
o102kl il L UL L LI
g AU e
o L q 5 1 1
ook AL H e Lt |
=3 -2 -1 0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


